FTHSEE h@ERPERYYI—KE HR

A $M5FE6AH21H(0K) 248 (1)

£i12 218 0K):Za—49 B 8 AEYvh—i5
2480 (L) =Z&HHRE L EZ BMILEG

2HH | | EEE | | 2HE |
L e T Bz Rt Pk =&%
24 R PR
(OB10) 3z RREMILFRAPER (1870) 0
(4%0) AL RETHILIEGDER (1#0) .
] = — K- EEHE
PK PK
(47110) (ORT1)
(2#0) (0#0)
PK PK
HE P
(ORiT1) (OR110)
iy (0%0) (0%0) —_— T
= m PK 5PK4 _§%
(2#i10) (OHiI4)
(2#1) (0#2)
PK 4 (3%i10) PK
- (1#0)
FiH Cen L
( E#& )
(28i10) PK (1870) i
(4t20) (1#1)
=1 FTH-Z£%=
PK PK
(ORT0) (ORT0)
(0%#0) (0%0)
5PK4 5PK4
KA 3 Bt /= A
(ORT0) (oRif1)
(0t0) (1#&1)
*m# 2PK 4 (OEi1) PK Emﬁ
(2#0)
A PK L5

10

11

12

13

14

15

16



6A148 (k) PEMRPZRY Y H—K=

t7ovsy 1BBEOHAAELE camrvesBEEMLEE)
A = B &

0-0 0-0 0-2 2-1
0 0-0 0 2 2-0 0 0 0-2 4 6 4-0 1
—qu-h- Eﬁix E

3 . s
gl x Ao
= -1 ¥ 0-1 i
H 3,1 2 g 0 g g 4
2F—LH2HBIZHE 2F—LP2BBIZHS
R
C = ETHA] 015
_ (285 | 10:25
ol 047 4 407, [ZE3:R& | 11:35
0-3 0-0 (425 | 12:45
[ZE5384& [ 13:55
- E [FE6s & | 15.05
5]
ST | M 146 (1 ~34) - 0. AR
0-7 [ gﬁ(zra{ﬁ):?laa N EEJ: R
YA~

2F—LA2HEBITEH

BN =T DIELDF—LDS5E, EF—LETHET S, ERF—LDREAEE
DR OFER ORER @ZEKICKIPKEET D,

L= DA ~36L, 2fuhd~6ikNET S,

hR-FmJOvY 1BEOHEAEHLE Ca—sY EHaEY Y H—15)
A 1 B 1
o1 -0
iol! 1 0-0/0
1-0 PK4-1 0-14 2-0 0-2
3] 50 0 0 gy 21 2/ o1 0 oo 4
. # .
g % i T % v # =
= 7 iR 5 pi=| i -3 A
6-0 2-0
19459 0 | I 6,0 0
| |
C I
S 1T, 3. & B[]
1-1 E1 iﬁ 9:00
1-0 PK5-4 0-0 EVERS 10:15
319090 002 2 HE3sa | 11:30
i F4i S | 12:45
B (L B o Z5eta [ 1400
it VN ﬁ iz F6A | 1510
]
| 11057 I 1462(1~34x) : EE®. 8. &=t
1-3 2fi1(4~641) i Ii5. BN,
| L (7~9fL) : REAFE. KE-ZRETPE. MERM




